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General Instructions :

31/1

(i)
(ii)
(iiz)
(iv)
(v)
(vi)
(vii)
(viiz)
(ix)

The question paper comprises of two sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

All questions of Section A and all questions of Section B are to be
attempted separately.

Questions number 1 to 4 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

Questions number 5 to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

Questions number 14 to 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

Questions number 23 to 25 in Section A are five-mark questions.
These are to be answered in about 70 words each.

Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.
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HOT A
SECTION A

mmW%@mﬁmw@m,mmw—OH
g | . 1

Write the name and formula of the second member of the carbon
compounds having functional group — OH.

2. HEE 79 H UAfE & & F8 & Ieor@ HeT | 1

State one function of iris in human eye.

3. 1 T 8 99 IYATES & I W W I=F FHo ATl AT fafeter e W
forar Fd € 2 | 1

What happens when higher energy ultraviolet radiations act on the
oxygen at the higher level of the atmosphere ?

4. fodt MR sJ@enr § A IURE W W 10,000 S Fo IUay g, o fgdias
SYAIH & I JAgE UM B ARG S & fou R S S9es g ? 1
In a food chain, if 10,000 joules of energy is available to the producer, how
much energy will be available to the secondary consumer to transfer it to
the tertiary consumer ?
5. "9 39 o= Ry T
6Cs 80, joNe, ;Na, 1,Si
() T Y3 a9 AT S o e § e =R |
(i) ¥ 93 7@ gFT % & T § a9 9 |
TF YT H S =999 & fau sRror fafew | 2
Choose from the following :
6Cr 80s 1oNe, ;;Na, ;,5i
(1) Elements that should be in the same period.

(ii) Elements that should be in the same group.
State reason for your selection in each case.

6. W o K AEd WRON F G AEd qo Ted U W e | W o () W
ToelE fa=md, (ii) 1 Gaieishar faf@e | 3o 3w @ sReT 9fgd ofF @ 1 . 2

An element X’ belongs to 2 period and group 17 of the periodic
table. State its (i) electronic configuration, (ii) valency. Justify your
answer with reasoning.
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11.
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13.
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39 Sie &1 9w fafaw, S Ay SWEE 5N A4 S I B 7 | 39 T SEa
Tfifeafadi & gE T S dSvEi & I () 7 3fs # F wEEs
Name an organism which reproduces by spore formation. List three
conditions favourable for spores to germinate and grow.

qur & g ¥ wiE=r & 9ffE # SwiE HiT |

State the role of placenta in the development of embryo.

YHY T SNE T WA g & Ve Rl &1 3w & g 1 3 fEwn &
999 T THR fF S 2 T ¥ Weea F UvEn e e 9 w1 W
1T RN F G SR a9 e & UvEn e fGI @ Seokd i |
T fHmll & 3T gW IEdd TUU & BHY gl d%dl FE & &g figd fae &
yfafars & feafq 39 FifEw |

To construct ray diagram we use two light rays which are so chosen
that it is easy to know their directions after reflection from:. the
mirror. List these two rays and state the path of these rays after
reflection. Use these rays to locate the image of an object placed
between centre of curvature and focus of a concave mirror.

forelt 9 & BS7 ¥ 90 YA & ae RO & SR W 3Tk faEu F S
& fau Amifea fFoT smE @i |

Draw a labelled ray diagram to illustrate the dispersion of a narrow beam
of white light when it passes through a glass prism.

T § UH A AU adfas fafd § 8 W (IAE W) TG &1 7 | Awihd
INE F GEIdT T TS AT HIWY |

A star appears slightly higher (above) than its actual position in the sky.
Illustrate it with the help of a labelled diagram.

a2 bl & fmfr ¥ 3 i gmeml F o sAR | o sl 3 3% g
HIRT | '
List three problems which arise due to construction of big dams.
Suggest a solution for these problems.

Staredt $edl % g ¥ S I A YR IR | 3= =0T W OF gEIS A
T2
List the products of combustion of fossil fusls "What are their adverse

effects on the environment ?
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15.

16.

17.
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e AT F TS G0 F T ard g 2 R e ovit & @ gee &
Tt g7 fafEy it 39 9m @ Iwe FST S A F () s o,
(ii) Terafe e, & feifa s @)

What is meant by homologous series of organic compounds ? Write
the chemical formulae of two members of a homologous series and

state which part determines the (i) physical properties, (ii) chemical
properties, of these compounds.

Na, Mg @1 Al 9 o € f5i  Saisher soeeiAl 1 9@ %9 &, o a9 9=
21 () rud v B sfusaw g, (i) 3 wed s sifufwanede @ 2
TAF & g FROT SR ST I S T Fif |

Na, Mg and Al are the elements having one, two and three valence
electrons respectively. Which of these elements (i) has the largest

atomic radius, (ii) is least reactive ? Justify your answer stating
reason for each.

mi-fy & diF Al & gE 9ART oK yds @ gEy § Wy e |

List and explain in brief three methods of contraception.

IR B TEe Y& TG % oW (FE) WeX F Ul w OYE A F A ()

T F g ¥ oo wd @ e F, U ¥ omeR ¥ U i @ | e Ak ew

F, d & w3t & o & @960 &0, o 7 F, i ¥ mX F U aw

Ul

(a) F, % & % 37 femd @ 2

(b) F, Uit § = dtel qen i @ & e w4 Am 2

(c) 39 TR * el F Ieo@ HT | F, 9§ 7 REE K 3wy Fy
it ¥ gfemer & MU | yde & A e G

If we cross pure-bred tall (dominant) pea plant with pure-bred dwarf
(recessive) pea plant we will get pea plants of F; generation. If we
now self-cross the pea plant of F, generation, then we obtain pea
plants of F, generation.

(a)  What do the plants of F; generation look like ?
(b)  State the ratio of tall plants to dwarf plants in F, generation.

(c)  State the type of plants not found in F; generation but appeared
in F, generation, mentioning the reason for the same.
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19.

20.

21.

22.

23.
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IR Sl SR ey el § faied s At @ favmasi # gd
Afeier § 99T | FoU% S USH-USH IeEl o AT | _

List in tabular form two distinguishing features between acquired traits
and inherited traits, with one example of each.

Staren ff YER 90 § 2 St & g frefRe w9 S S fafedt w1 g@em §
guig ST |

How are fossils formed ? Describe, in brief, two methods of determining
the age of fossils.

FR TE AEERfEA F (1) TG R (i) WY g¥d Ui, ¥ 3TEN fHU 9 9
T & FER F I FGC | FAE THOT H AT IW A gF F AU FROr
fafaw |

State the types of mirrors used for (i) headlights and (ii) rear view mirrors,
in cars and motorcycles. Give reason to justify your answer in each case.

4 cm TET FE G 24 cm WFE W F 30 A9 F TOA I F ohead Rad 2 |
forr &t o9 ¥ g 16 cm @ | oW ¥ & ITAW & @94 ard fafe @ fefd,
TES TS TFA A HIC | .

A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 24 cm. The distance of the object from the lens is
16 cm. Find the position, size and nature of the image formed, using the
lens formula.

FE 31y g F ARG @ 1m Y 39 gl W fgd aegsi 1 Wy 48 @ v
29 g ey Ay @ dfed ? 7 Toe SOiEA 69 YR AT ST §&aT @ 2 o
(i) gfE 3 o 9% (ii) ¥oea & fom s fsor s @ifaT |

An old man cannot see objects closer than 1 m from the eye clearly.
Name the defect of vision he is suffering from. How can it be
corrected ? Draw ray diagram for the (i) defect of vision and also
(i1) for its correction.

FESIHET FNE 2 () WIW FESEEA], (i) UGH FESHEAI F A T T
T faf@u aur 58% YER & S EREEEA d SEdl & cwise | e s
TESiHE § 59 YHR Y9 s S G%ar § 2

argat
& g @ e aRT | 3 e W, @ 9@ § e ag SEE 3
B 8, g ¥ fou umNE F Sugw €N W IR0 EET |
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What are hydrocarbons ? Write the name and general formula of
(i) saturated hydrocarbons, (ii) unsaturated hydrocarbons, and draw
the structure of one hydrocarbon of each type. How can an
unsaturated hydrocarbon be made saturated ?

OR

What are detergents chemically ? List two merits and two demerits of
using detergents for cleansing. State the reason for the suitability of
detergents for washing, even in the case of water having calcium and
magnesium ions.

TS H TS AR o USHferll qF1 IyEfert gt & a9 fa¥ed fifSe | T

G e dfaem W OWEEU F SFT IWREC a9 f 9w @ Awifed

T - -

(i) AR SHA-HIE ()

(i) TR -SRI ()

(ii1) USRI | 5
Fgan

AT & HIEl S99 dF & 3IRE Wiue fAefaf@s 9r & amied SIS

(i) @8 9T S 3UT IqF Wl ? |
(i) =@ 9 el eve ud YERO] e g 2

(i) @8 9n Sl ffad sve (Fas) el g € |
Sfa HME VS i e 98 giar 2, 99 1 gar g 2

Distinguish between unisexual and bisexual flowers giving one
example of each. Draw a diagram showing process of germination of
pollen grains on stigma and label the following parts :

(1) Female germ cell
(i1)) Male germ cell
(iii) Ovary
OR

7§ PiTi0.




Draw a diagram of human female reproductive system and label the
part

(1) that produces eggs.

(ii) where fusion of egg and sperm takes place.

(iii) where zygote is implanted.

- What happens to human egg when it is not fertilised ?

25.
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el ol G/ YTeT & TEd & fag 98 @ fog 9Ruel # gE SR |
@ G 39 fog IRuRt & sy U e v St mied g ud weid
ﬁﬁaﬁﬁaﬁﬁaﬂﬁqaﬁm%ﬁm%mcmgﬂmﬁ%wﬁwmmw
e wd v sfafssa o=m@r 2 |

Frorar
TS 0T G F WA ¥ YW F AUGad & G H Ieor@ HIGC | THT
F e & fAU =9 & fm 1 Icoe ST 99 39 T &9 § o= SR
Fifera |
T F WUW I F AGEAAE 2/3 9 A F G el F AGEAAE 4/3 €
Ifg H= H yEE # W 2 x 10° m/s B, @ (a) Y H, (b) TA H, FHRT FH
9 §d S |

List the new Cartesian sign convention for reflection of light by
spherical mirrors. Draw a diagram and apply these conventions for
calculating the focal length and nature of a spherical mirror which
forms a 1/3 times magnified virtual image of an object placed 18 cm
in front of it.

OR

With the help of a ray diagram, state what is meant by refraction of
light. State Snell’s law for refraction of light and also express it
mathematically.

The refractive index of air with respect to glass is 2/3 and the refractive
index of water with respect to air is 4/3. If the speed of light in glass is
2 x 10® m/s, find the speed of light in (a) air, (b) water.




SECTION B
26. HW Yohe 791 5% Gohe & o faema wAwE f@d 3d §
A) sk R
(B) & 3R {EH
(C) et 3R R
(D) & R TEE
The aqueous solutions of copper sulphate and zinc sulphate appear
(A) blue and green respectively
(B) green and colourless respectively
(C) blue and brown respectively
(D) blue and colourless respectively
27. W Tohe, A Tohe U1 57 Toke T foera a9iq g 3 39 | &ayr L 1T
g III 3iffd fFar w1 | 7% faomm § 39 Toe Ugifem & S T | 9 O
YA FeUT FHA R UREd g ST
(A ISRIIH
(B) II s III#
(C) IIsRIHA
(D) dH#H
Solutions of copper sulphate, iron sulphate and =zinc sulphate are
prepared and marked I, II and III respectively. Few pieces of aluminium
are added to each solution. After some time a change will be observed in
(A) Iand]II
(B) II and III
(C) Il and I
(D) All the three
31/1 9 R:T:Q.
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28, WaETel § 2 mL 5 dia R 38 2 mL UEifes e faemar oS Seer s
W Ig U T fF

29.
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(A)
(B)
(&)
D)

TE @ @ IR a9 T g
T & TF Gihe 3T ol 3
3 yu% GaAg §9 I §

On adding 2 mL acetic acid to 2 mlL of water in a test tube, it was
observed that

(A)
(B)
(C)
(D)

a clear and transparent solution is formed
a white precipitate is formed almost immediately
two separate layers were formed

a colourless and odourless gas is evolved

frt o § B TESNF FEAE ¥ UHifes 3 faam W &S S 98 der

g &

(A)  @i¢ sfufEar & A

(B) Ty # EA e

© R ok e A ¥ gee oW §
(D) fot 3 wor Ty I 2

On adding acetic acid to sodium hydrogen carbonate in a test tube, a
student observes

(A)
(B)
(&)
(D)

no reaction
a colourless gas with pungent smell
bubbles of a colourless and odourless gas

a strong smell of vinegar

10




30. THfew av & fovw H Y Ru Tw Jaeli ¥ § FHE w w7 2

(A) & A fAemE & e I @ IR T o Sy e @
(B) ¥ i fAewe & ol & I ¢ 3R TR St §ew F oY IR @
(C) ¥& @ faeny & e & @ 3 3R 399 foweh 9 Ty ot @
(D) % Ot ferew® i Aem 9 M 3 R TWW Bl I Y AR 7

Which one of the following are the correct observations about acetic
acid ?

(A) It turns blue litmus red and smells like vinegar
(B) It turns blue litmus red and smells like burning sulphur
(C) It turns red litmus blue and smells like vinegar

(D) It turns red litmus blue and has a fruity smell

31. fFdt o #t ©€ W fFh gy fam @ wfafem T =& G 1w sEda o )

31/1

TE g Feifa e @ | 38 TRm W S 5 Y 3§ W R SR 1
(A) T T Y Ya fasrel F @

(B) F well-oifq T I TG

(C) w8 W & fagal &t wWa i

(D) AN @ A9 & Td fFR W W@ e S s

A student has to determine the focal length of a concave mirror by
obtaining the image of a distant object on a screen. For getting best
result he should focus

(A) a distant tree or an electric pole
(B) a well-illuminated distant building
(C) well-lit grills of the nearest window

(D) a burning candle placed at the distant edge of the laboratory
table

11 23 RO




32.

33.

311

ot o9 7 foell g0 99 &1 Ie21 § T dfdfere SfEad <UU % WA @ T8 W
WG A | 3H% RN 394 UC @l g <UU ¥ IEd w1 WM fEar | 3w T

<@

(A)
(B)
(®)
(D)

dor 3 e dER W refys e wfaf

YU F g & el UE Safea St

F% wfafra T8 @ W@ Hifs e g T 2

00 & BHH W IW F NAGF B § IeT Sl

A student obtained a sharp inverted image of a distant tree on a
screen placed in front of the concave mirror. He then removed the
screen and tried to look into the mirror. He would now see

(A)
(B)
(C)
(D)

a very blurred image on the wall opposite to the mirror
an erect and magnified image of the tree in the mirror
no image as the screen has been removed

a highly diminished inverted image of the tree at the focus of the
mirror

Ife v fFelt See o) # W g0 fuia S 8, 9 ovs T R =Ry

(A)
(B)
©)
(D)

TH 3¢ o9 I e

TF 39 o9 3R A9 & LUe

oF 1 WUE, W& F LU FR TEH G5

& 30A OF, T T, §9 oA & RS AR TE T

If you are to determine the focal length of a convex lens, you should have

(A)
(B)
(©)
(D)

a convex lens and a screen
a convex lens and a lens holder
a lens holder, a screen holder and a scale

a convex lens, a screen, holders for them and a scale

12



34. FE F AATHRK ®E ¥ FH TR a1l YHRT RO 1 0 SRET FA F W R
A GG S5 B A9 & T fFH YO e ¥ gay oo i o 2

P, 7 P, O 30 og TS e feaferd € 0

oF1 oL

\Pl ) 2 A . : A

P, \G)fz ©P;

I ; II III

Ay &
B). = H
(C) 1II
@) IV

v

While performing the experiment on tracing the path of a ray of light

through a rectangular glass slab, in which of the following experimental

set-ups is a student likely to get best results ?

P, and P, are the positions of pins fixed by him.

£ \G\Pl oP1
\\G)\PI \\\ \\\
oP; ®P; oP;
I II 111
CA): T
B Il
(©) - 18
(D)~ IV
1/1 13
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35. IR BHEI T FE & JAAFR T ¥ TR TR et TEW F BT F A9 e
IR 99 3MfEa fF |

NEVERNE A
T\ N

I II III 1\
f5g 89 & g MfEd 99 & W B9 W 3fed qwET @ 2
(). 4
(B) II
(€)= 1l
D Iv

Four students showed the following traces of the path of a ray of light
passing through a rectangular glass slab.

R
X\ o

III

The trace most likely to be correct is that of student

A) 1
(B) 1I
AQ) Il
D) IV

31/1 14



36. A ¥ THeM F WES F @A & UYEN G SE 7 A9 T U e A |

©c8g8¢

TH W aRE § 1
A IO m

(B) ILIIL IV

(C) IOLIV,V

D) LIV,V

Following diagrams were drawn by different students on having seen
prepared slides of budding in yeast.

8 g¢8¢

Correct diagrams are

@ . LI
(B) II I, IV
©) ILIV,V
o) LIV, V
/1 15 P.T.O.




37. e T T fFw sm@ ¥ qHom 7@ <wiar T8 ?

(2)

e L8 e 7
© D 0, ©
I II III v
A I

(B) I

(C) 1II-

(D) 1V

In which of the following figures is budding not shown ?

@@ 00 ao"
°So 0 e 8 N0 o
© D 0, ol
I i I v
@A 1
B) 1I
©) TII
D) IV

311 16




138, = smw@i ¥ swier § fg-wued <uiar 8 e wH wE A 2 |

11

11
T 98 FH §

(A) - O, I; IV, 1
B) LIV I 1

(C). | IOLIV,I
(D) IV, I, II, I

The following figures illustrate binary fission in Amoeba in an incorrect
sequence.

II

The correct sequence is

(A)
(B)

(9}

(D)

III, 11, IV, I
101, IV, II, I
IL, 101, IV, I
IV, I, 11, I

17
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39. e fu T sm@l ¥ ¥ 3T N@ H gEAU S e & fg-@ved & w0 < §
@ 5 -
I 111 \%
(A) L II,III (B) IV, 1I, 1II
(C) VII, IO (D) IV.1I. 1
From the following diagrams, select the correct ones showing stages
of binary fission in Amoeba :
(&) - L1 HI (B} IV, 1L, TH
(C V. IOm (D) IV, I, I
40. f5 3@ 3 32 fRUfed S Sow 3@ 91 % HfET fFa | I R g i
F AT S § PN | G 2 g & IR 394 FRRHN @ S 9 e
3% drer ok fif & dren 3k 3w 9 S 4 e | feufred g sEeif| S
% wfavar F1 fagior #9 F fAu swEm A 99 aen ey g
@ I== x 100 ® == «%oo
y X
yox 1 4
© =2 (D) (y —x) x 100
A student weighed some raisins and recorded the weight as ‘%X’. She
then soaked the raisins in distilled water. After about 2 hours she
removed the raisins, wiped them dry and weighed again and recorded
that as ‘y’. The percentage of water absorbed by raisins may be
determined using the relationship
@A =X x 100 B == x 100
Yy X
e SO -
©) — T (D) (y —x) x 100
31/1 18
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111

frufaell g sravifyd Sa &t wfgvaa fauife &9 & w@m & g9 feufast 5t
W 1 90 TF 9 H O & uven 3@ g 4R mmd § | wRemm S
RyEd & fa, s g8 fFofel & yo ¥ sfaRe 9a & g™ 9 8

(A) T FUE H TEH

(B) T g tEA (=R) W

(C) g & 8N

(D) fFet T (YW) g

In the experiment for determining the percentage of water absorbed
by raisins, we do the final weighing of the raisins after keeping them
dipped in water for about one hour. For the accuracy of the result,
the extra water from the surface of the soaked raisins is removed by

(A) rubbing with cotton cloth
(B) hot air blower

(C) dry cotton wool

(D) filter paper

19



